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Use Source B to answer questions 4—6.

4 Robert Graves describes the suitability of which weapons amongst the Cuinchy 1
brick-stacks?

O (A) Gas and tanks

O (B) Rifles and artillery

O (C) German rifle-grenades and trench-mortars

O (D) German sausage mortar-bombs and machine guns

5 What is the meaning of the word ‘snipes’ as used by Graves? 1

O (A) To climb into the trenches

O (B) Tolook down into the trenches

O (C) To fire generally into the trenches

O (D) To shoot at a specific target in enemy trenches

6 According to Graves, the British could not respond effectively to German 1
attacks because

O (A) German trenches were better constructed.

O (B) Germans were better positioned in the trenches.

O (C) German rifle grenades were better than British ones.

O (D) Germans had more and superior weapons to the British.

7 Use your own knowledge and Source C to give THREE reasons why it was 3

difficult to evacuate wounded men from the trenches.






